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A skt
M N2 BIAE
H?Hel =2 E3AE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 32,027 31,303 724
M ORINZZE2NSES 32,027 31,303 724
oJlga 248 214 32,027
o222 (=X HAEE
86,3032 x 165 «2H 28,480
oMET BHAY
3,4733* 1652 x2H 1,147
o=AHE 300,000 x2H +23] 1,200
ocHEAN= 300,000 x2EH *23] 1,200
201 Zet=3h] 10,780 10,780
01 AtR2te|HI 2,960 2,960
SEEEE 50,0002 122 600
OgeH yese 30,0008 * 122 360
OZ2IY 2¥2E 7
150,000& %102 1,500
oz e g2= NH 500,000 500
02 S3=gHl 7,820 7,820 0
(OFSPIETE= 270,000& 128 3,240
ORI ABHIAIAE 110,000« 12& 1,320
Ostes(HY, Aat)
55,0002 123 660
Ox=kR= 50,0002 123 600
OAd==AlHl 2,000,000& 2,000
301 22N = 1,500 1,500
14 JIEt2 = 1,500 1,500
OZA==g 150,000& * 102 1,500
2ot & H242 29 381,723 368,502 13,221
Al 50,000
- 293,733
= 37,990
P55 HEUs=s 2ot 29 62,318 61,444 874
101 @124H| 32,027 31,303 724
M ORIMZZ2NSE S 32,027 31,303 724
OJI2S(FXt, AXILE)
86,3033 x2ZH 16562 28,480
Odegs 28xE
3,473 x2& » 1652 1,147
O=ArelE 300,000 x2H *23] 1,200
O&&Y0i= 300,000& x2E *22] 1,200
201 Ler23| 24,146 20,99% 3,180
01 At2teltl 5,000 5,000 0
O=2g== & eE=SNa S
5,000,000& 5,000
02 S3=gHl 19,146 15,996 3,180
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A skt
M N2 BIAE
el HEsa 2 HA2ENE 28 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFSPIEei=] 700,000 * 122 8,400
Odot= 2= 78,0002 128 936
0827 B2 442 20,0002 128 1,440
0BT BIBMN 448
150,0002 %12 150
Owstarel B 442
155,000& * 12 1,860
ORoIM Bl 23| 150,000& * 122 1,800
Oosties s 130,000 «12& 1,560
OdEF bl 3,000,000 3,000
202 04l 3,120 3.120
o1 =LHolb 3.120 3,120
ONZHIEHLIIF SF01]
20,0002 x132/* 123 3,120
204 AR A 525 525
2 S3g =3l 525 525
OAIRHEERRIZS ITH CHEIE S|
43,7503 128 525
405 AHAHE S 2,500 2,500
02 A bl 2,500 2,500
OkM 7 S 2,500,000& 2,500
SBsMY=S2ot2 T2 2F L A 30,000 30,000 0
201 Let=23 | 17,000 17,000
01 AR r2IH] 17,000 17,000
OgssHyzes 9 HORSC AR
ZZH2E 17,000,000 17,000
301 EtE NS 13,000 13,000
14 0Bt 2as 13,000 13,000
OZ2Iy A% P43 S
13,000,000 13,000
LYSLICH S0EH2EA2 29 143,315 135,818 7,497
307 elztol & 129,815 124,818 4,997
05 21t S 129,815 124,818 4,997
OLZSLILH. SM=RH2EAS 23| 129,815
o QI2AH| (3E-ALA1, R RI2)
107,000,000& 107,000
3=l 22,815,000& 22,815
401 Al HIZL 201 4,500 2,000 2,500
01 Al&H| 4,500 2,000 2,500
OAlg 7 X2l 2,000,000& 2,000
OF+=3At 2,500,000& 2,500
405 AtatE = 9,000 9,000
02 =A=hl 9,000 9,000
OA=¢ 15,0002 6002 9,000
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Eet2rd
M N2 BIAE
el HEsa 2 HA2ENE 28 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
BSHYESOH0I=A2 2 137,990 133,140 4,850
Al 50,000
- 50,000
= 37,990
307 212+01& 126,990 122,140 4,850
Al 50,000
T 50,000
= 26,990
05 git?(& = 126,990 122,140 4,850
OE+=SHLZZHE A2 (SHEH) 2
el 126,990
o I2AH|(3E-ALA1, 2telel=2)
100,000,000 100,000
Al 50,000
- 50,000
o QIH|(3H-AFAT, 2t2|el=2)
7,000,000& 7,000
= 7,000
o=l 19,990,000 19,990
= 19,990
401 Al HIZ S 0HbI 2,000 2,000 0
= 2,000
01 Al&H| 2,000 2,000 0
OAl& = Xl2eltl 2,000,000& 2,000
= 2,000
405 AtatE = 9,000 9,000 0
= 9,000
02 =M=l 9,000 9,000 0
O=AM=¥ 15,0002 »600 9,000
= 9,000
A2oA2 29 8,100 8,100 0
201 Zet=E] 600 600
01 At2teltl 600 600
O=LSMHIA AIZE 600,000 600
405 KHAHF SH] 7,500 7,500
02 =A=EhI 7,500 7,500
OA 7Y 15,0002 *500& 7,500
AIRIDL Stiiots 23tet Ol=2l 2t 56,532 41,532 15,000
AOHE 23t= 40,000 25,000 15,000
307 lztol & 40,000 25,000 15,000
02 2B A HE L 40,000 25,000 15,000
O40HE 2=H=A 40,000,000 40,000
A0S Hel 3¢ 16,532 16,532 0
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2A: S22
Mz Y SHAH|(Sa2Z )
el s=a (G2 & 4)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
SEEEEr
10, 1622 %20 A| 2H* 122 2,439
o AHIIEAH| 718,420 719
HRLIEI 2SI 21 2HH| 36,862 37,100 N238
101 Q124d| 36,862 37,100 N238
02 JIEtE 24 36,862 37,100 A238
OAIZIEEHIKLDIH 02
2,444 6102 x12& 29,336
O&ZE x| 153, 120& x 12& 1,838
OFHZAH| 140,000& x 128 1,680
OEx2AR2H 87,5603 x 128 1,051
OAZII224Y 9,620 x12& *20A| 2+ 2,309
OAIIE A 647,530 648
J|l2&t| 58,734 83, 166 N4 432
S PAR== ] 58,734 83, 166 N4 432
201 LBr2AH| 10,206 23,406 13,200
01 AtR22t2|H| 10,206 22,206 A 12,000
OBNEY J|242H| 279,000~ 18H 5,022
OJ |22+ S|
8,000& *3A1x18H x 122 5,184
202 04| 44,928 56,160 A11,232
01 2L Y| 44,928 56,160 A11,232
OJ|2g248 |
260,000 *18H * 122 *B0% 44,928
203 YR =&IH| 3,600 3,600
04 EASHH 2] 3,600 3,600
ORNMZTAEZH 300,000+ 12& 3,600
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